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3(sinx cosy - cos x siny)
— (sinx cosy + cosx siny) =0

= 2sinx cosy — 4cosxsiny =0
Divide throughout by 2 cosx cosy

= tanx - 2tany =0, so tanx = 2tany

b Usingatanx =2tany =2tan45° =2 |
s0 x = 63.4°, 243 .4° |
s 0.%x 53“ o b +38.7°
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h 0°, 30°, 150°, 180°, 210°, 330 i ?3'6’3
j -104.0°,0° 76.0°
k 0% 35.3° 144.7°,180°, 215.3% 324.7°, 360"
51.3°
a

b
a

-3

5sin 26 = 10 sin # cos d, so equation becomes

10sinf cos# + 4sinf =0, or 2sinf(5cosf +2) =0
0°, 180°, 113.6°, 246.4°

2sinf cosf + cos’f —sin’f =1
= 2sinf cosf - 2sin?6 =0
= 2sin# (cosf —sinf) =0
0°. 180°, 45" 225"
L.H.S. = cos? 26 + sin? 26 — 2 sin 26 cos 26
=1 - sin46 = R.H.S.
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Chapter 7

@ I Solve, in the interval 0 < @ < 360°, the following equations. Give your answers to 1 d.p.

a 3cosf=2sin(f + 60°) b sin(6 + 30°) + 2sinf =0
¢ cos(f + 25°) +sin (6 + 65°) = 1 d cosf = cos(f + 60°)
2 a Show that sin ('ﬁ‘ - i} = -_!?{Sin 8 + cos f) (2 marks)
b Hence, or otherwise, solve the equation -__.]E(sin 6+ cosfl) = _]E 0=<6=2m (4 marks)
Vi v

¢ Use your answer to part b to write down the solutions to sin @ + cos ¢ = 1 over the same
interval. (2 marks)

® 3 a Solve the equation cos f cos 30° — sin f sin 30° = 0.5, for 0 = @ = 360°.

b Hence write down, in the same interval, the solutions of v3 cosfl — sinf = 1.

® 4 a Given that 3sin(x — ) — sin(x + y) = 0, show that tan x = 2tan y.
b Solve 3sin(x — 45°) —sin (x + 45°) =0, for 0 = x = 360°.

I & . - - .
@ 5 Solve the following equations, in the intervals given.

a sin2f=s5nf,0=60=2r b cos260=1-cosf, -180° < # = 180°
¢ 3cos2f=2cos2f, 0=0<360° d sindf=cos20,0=08=n

e 30059—5in§—1={},0£5{?2[1“ f cos?@-sin20=sin?f,0<f=<n

g 2sinf=sect,0=0=<2n h 2sin2d=3tanéd, 0 = @ < 360°

i 2tanf=+3(1 —tanf)(1 +tanf), 0 <8 < 27 j sin?@ =2sin 26, -180° < § < 180°
k 4tan® =tan28,0 = # =< 360°

In AABC, AB=4cm, AC=5cm, ZABC = 20 and £ZACB = 6. Find the value of 6, giving your
answer, in degrees, to 1 decimal place. (4 marks)

=3

a Show that 5sin 28 + 4 sin f = 0 can be written in the form asin @ (bcos 8 + ¢) = 0,

-1

stating the values of a, b and c. (2 marks)

b Hence solve, for 0 = # < 360°, the equation 5sin 28 + 4sinf = 0. (4 marks)

8 a Given that sin 26 + cos 26 = 1, show that 2sin#(cosf — sin #) = 0. (2 marks)

b Hence. or otherwise, solve the equation sin 28 + cos 26 = 1 for 0 = 6 < 360°, (4 marks)

9 a Prove that (cos26 —sin26)’ = 1 — sin 44. (4 marks)
b Use the result to solve, for 0 = @ < 7, the equation cos 26 — sin 26 = -}T

Give your answers in terms of . . & (3 marks)
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